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SECTION — A : MATHEMATICS (53¢ F°0900)

1 The value of log, ee is
log, eve dewd Hos?

i 2 3 4 2
L) 5 @) 3 @) 3 @ = L e
M-
2 Cardinal number of the set A={-2,-1,0,1,2} is VI
A={-2.-1,0,1,2} &3 5288 586 opg
(Y5 (2) 4 @) -2 “4) 2
3 The zeroes of the quadratic polynomial x2+24x+119 are W& £
(1) one positive and one negative (2) both positive A 0
(3) both negative (4) none of the above is e
\~=
x2+24x+119 o3 B D0 drargen
(1) eses Gy o o 28es avere) So (2) Bodr ey Ko
(3) Bodr eveaee) S0 (4) }_)5&) 59 \"/Y//\
SPACE FOR ROUGH WORK / 9& %98 Seranosesds P \x :
e bx}f
\\Q wb
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4  What is the degree of the polynomial 7u6'_%u4 +6uz—8 ?

19 The roots of x>

Tu® —§u4+6u2—8 O IO HOEPHED Jod? X2 +x-6=0 &:
2 / 1) 2,-3
3
(1) 7 = (3/6 S |
; 1 If ¢,p areth

H.CF. of 8, 9 and 25 is
\ 8, 9 wbaw 25 © K.r.5e.

S )
o, P e ax”:

4 3

1) o @)1 3) 2 b
. (o) ==
Y a
[ ~ /Y
2 b o
) 10™ term
(1) Natural number (2) Rational number " e X
(3) Irrational number (4) An Integer ;r/L ;..—L;
1 sl (1) 21
_ﬁ T N~ S
o= . ) \/ 5y : 3  How ma
(1) wre NODY (2) ©888a0 dowg :; ] j = 7 B wrhc
(3) soddats womg (4) 4rg vowg N (1) 10
X< ¥ (f
! If 2% =8% then x=? b/ C 2o e , t  The sw
2% =82 wond x=? G Moo () e X O ot 3.6.9
(1) 2 () 4 /@(6 T o @) 8 "N A (1) 31
8  A={C,0/.1.D19,2020}, B={.0.).1.DA%2021Y then B-A=2 (o o 5 The
4={c,0,v,1,D,19,2020}, B={C,0,V,I,D,19,2021} ®od B-A=? o) .
(1) {2020} 2y {2021} . (1)
_ g
(3) {2020, 2021} (4) {C:f,V,I,D,19,2020,2021L’\) e &
: = O‘\ \XD 3x
9  Find the value of logy,0.01 — "% W ; ,\ |
o o .0 \ O) g :
log 1 0.01 dewd Do’ = @ £ = ¢
(1) 1 @) 2 3) 3 @ 4

SPACE FOR ROUGH WORK / D #38 Seronoteds gomo
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\o L \\)/ S o
.. v o
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10 The roots of x2 4 x-6=0 are

.\'2 +x=6=10 61»53, nrrerseD

(H 2,3 (2) -2, 3 (3) 2.3 (4) -2, -3
11 If a. B are the roots of a quadratic equation ax” +hx4+c=0, a#0 then }*;;:
[4 )
o f w ‘l\':+h\'+c'=0. a#0 BwE wreds, l*l=
[, o B —
b : 1 A
(1) -= (2) = @) -= 4 =
a a C £
%
12 10™ term of an arithmetic progression 2.-1.—4..._. is
2.1 —4,...... &% WoERBS"D 5D HesEw
(1) =21 (2) -23 (3). <25 (4) 27
13 How many two digit numbers are divisible by 7 7
7 B erhos w8 BosoBe vomgen I)?
(1) 10 (2) 1 (3) 12 (4) 13
1315,'8
14 The sum of 15 terms of AP. 3. 6. 9...........
34 By Wyrvnswsser v @8BS 15 dore Bndo
(1) 315 9'360 (3) 415 (4) 460 \
L
15 The value of x which satisfics the equation 2x—(4-x)=5- ¢ is A
2x~(4-x)=5-x @B SXwecwd) &b 568 x Dewd )
(1) 45 (2) 3 ) 2.25 (4) 0.8 \
16 Solution of the equations 3x-4y=7 and 2x+ 3y = -1 s not equal to -
x-4y=7 Hdath 2x+3y=-1 bstere PEH & Sod od AD8 tdrero 5
2 33 33 44 4 M ” N e
g == I ) - —— —_— o — — e — 2%
D nn TR STl @ 7N ,
~ B
2
d SPACE FOR ROUGH WORK / 2g 208 Sercuodels poau ; .




,";‘ -
17 If In=45, then n= ‘
Yn=45 ®owd, n= 4 I the sy
Y BET 4 12
0y 9 (2) 10 3) 11 (C)) h i
. »ter 't :
2 3 - the dl"lm"
18 The centre of a circle with (1. 2) and (7. —4)- @ end points © (V) k
(1, 2) »doxw (7, 4) e g (e e !),)é,éoLcSo 4) (4 1) :
(1 4.1 A 4, 1) 3) % ~1) e B iIf 7:
1 P i co0 < :
19  Area of a tri : - e i = vith Jx
ea of a triangle formed by the line xcoso+? 0
xcosOL+ ysino=p O Ao OB D65 (DeH PeO8° /[7/
2 3 P (4) gin O cos o
(]) == (2) ___J.’..:—-——‘ 3) zsinacos(’« 6 TV
2 sin oL oS O , sin oL cos & (
(C
20 If x+7y=7 and 7x—3y="3" then ¥=" (
x+7y=7 @oaw oy dy =3 8ot Y Den® ? @ 0
2y 7 @)
Wy 1 (2) b
. ¢7 -
. . o afion -
21 Which of the following equation 15 not a linear equatl
&: (80B s &dered” D0 8o “Ep &0 527 R - 5
(1 243x=y—5 (2) 3-x=y>+7 3) xRV =l
22 If x2+kx+1=0 has:a root x=1 ithen B e ke
posd ¥=1 ol wrow ood k= —— ( M’/%?. 3

x2+kx+|=0 DB

w1 ) 2 3) 3
o are sino and

23 If the roots of the quadratic equation ax? +bx+¢=

1+2

Q|

sin o day coso & ax’

a’ b
M) 2 —= (3) o 4) b2

cos o, then

SPACE FOR ROUGH WORK / D& 8 BEFPOVOWBDAD D
AN A b kS
s ’)/,“* o 1 - ey ST
1\5/ ,&J,'/ 5 i SO R A
+ Tl NS V«-& o
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=0 has unique solution then
4 1f the system of equations 3x—2y-7=0 and kx+ 2y+11=0 has unique solu

3¥=2y=T=0 ®daty kx+2y+11=0 So8dere s JE b ¢odd

o - - = —3
(1) k=3 (2) k#-3 3) k=3 (4) &
S If 7.\‘—5_\‘: 2 and 3x+ y= 4. then x=? 2 et
) is : A b
Tx—Sy=2 &bdav Ix+y=4 oowd, x dend ? ¥ T
(1) 3 QY33 (3) 1 : 4) 2
26 The distance between the points (0, 0) and (5, 12) is N
(0, 0) woats (5, 12) Bottomye g drdo =7
(1) 1 (2) 12 (3) 13 (4) 14
27 1f the slope of the line through (x. 5) and (5, 2) is 3, then the value of x is _
(x, 5) ®Bas (5. 2) & thoae Y By wrew 3 wawd, x Dewd // ¥ 40 & O )
)4 2) 4 3) 5 4) 6 &
(/) (2) 3) 4) 9
28 If AMBC~APOR, £4=32°, /R=65" then ZB =7 3
W
(ABCARORS £4-30% IR-65" yors, snoo N } oeisiee
., ‘thep (1) 930 (2) 830 3) 730 @) 630\t
2oL — 24 —3 S5
) . X '},“& =\ Ei \
29  The angle in the minor segment is, K- 50
(1) obtuse (2 acute N (3) 90° _ -~ 4 (4) None of these | i"_
o HEnodo & Swo &wo. ,7)_)(' X W= G \/ ’;
(1) wos @) woy (3) won \ - ) Sermses
— \ G
SPACE FOR ROUGH WORK / og, 08 Beran08288 et ¢
Lz s>
3 S (o s
s .1 = —
) : % &> % o % > e P T =5 4!
3 ) ZHA E '-1;v X (}Ck, ) ) '\\ / > ’ RN /\;0 ‘Zﬂ i
[PT.O. POLYCET-2021—B \\A 7) 7% B Y \ i




b
4/3('0:4(’)" then ZAOC ="

e ZB‘,()=30O ' 5
@AV, £ZAOC =+

In the figur

30 ) e i
. 5 £BAO=30", £BC 0 =40

0 WO ‘

”~
B
7
M‘/ 0 (3) 1400 4) 1500
(1) 100° ) 120
Lo U B IERC I
2 —12cm then AB=

31 In the figure OB=13cm., OP L AB, OP=12¢cm

4400 ©08 OB=13 0.D., OP L AB, OP =12 20.5. @and, AB =

B
Aw

(1) 100 em (o.) (2) 50 cm (0.  (3) 75 cm (0.5v.) @a/ocm (20.8.)

: > : )
32 In the AABC; D, E and F are the mid points of the sides BC, CA and AB. |
Then area of ADEF : area of A4BC =

AABC &* D, E %805 F ey 63 BC, CA %:60%9 AB o DS gDoSHHB S,
ADEF Jego : AABC Emvgo =

(1) 1:4 (2) 4:1 (3) 1:3 (4) 3:4

SPACE FOR ROUGH WORK / 0 08 Stmonouiess g ]
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In the given figure ~BAC =90"; AD L BC>

b

<] @boﬁ) CD=
RDYS B0 ®0d LBAC=90°, ADLBC> BD =24e
A i
-"'- //
| s
| !
) e
2 D 16 e Ve Zi
(1) 10 cm (2) 15 em (3) 20 em (4) 25 cm
4 The base of two similar triangles are 24 cm and 18 cm. If one side of the first triangle
is & cm then corresponding side of other triangle is
(1) 8 cm (2) 6 cm (3) 4 cm (4) 2 cm
Bod rd (Behere grine FPoHm 24 Bob. Hoo%k 18 Bo.l.ev. e (Babe ghao 8 o.D.
®oNd, Bodd VHETD |Bzhe: gheo 200.8D.
(1) 8 (2) 6 (3) 4 4) 2
A
5 If a parallelogram is cyclic, then it is a P
(1) rectangle (2) square (3) quadrilateral (4) rhombus
ShrodS S Yo SBANH, ©b &8
(1) &g S0 (2) S8 (3) & yesitno (4) oroad
36 The perimeter of a rhombus is 52 cm, if its one diagonal is 24 c¢m then the length of
its other diagonal is
(1) 5cm (2) 7 cm (3) 9 cm (4) 10 cm
28 orow)l Gngy HEnEod 52 o.d. DAk od & Ko PP 24 0.0, wowd o Bokd 8o
ey does?
(1) 5 20.. (2) 7 0. 3) 9 0.. (4) 10 20.2.
SPACE FOR ROUGH WORK / 0 298 Seravoiseds oo 6 N7
v
3 A A
‘\‘\'\ 3 /)l’ ‘\L\ !
POLYCET-2021—B | 7 [PT.O.

o ondi t e e -



37

40

41

42

1s slant height is

: i i« 10 m. Then i 16.2 m

The radius of a cone is 7 m and its height 18 5m o i
(1) 122 m (2) 13.5m (3) 14- 4 Hesaren )

> Dy o8 10 . @av® ) s
o8 dorvy) dl\\S"?' R"’SR"‘E}':)U 7 :l). aw oA ::)O-’Q) ? h) (]) 16.2 ab.

. 5
() 1225 (2) 135 5 (3) 14-
If tan@=cot @ then the value of sec¢b’
tan 0 =cot B eawnd, secH Dewd o
~ (4) |

l 3 =N 7

(1) W 2) = (3))2
i f contact is
- at the point ©
The angle at tangent to a circle and the radius drawn at
2 ¢ % >0
9)6D0H 5 H)E )6 008 od rgdo Baw §° - (4) 30°
(1) 60° 2y 90° (3) 45
. . P (N : - radii of their bases is )4
The ratio of volumes of two cones is 4:5 and the ratio of the d
then the ratio of their vertical height. is &8 ey o
o, ","‘ 5. e — 1) 2

Both fomPe HBBErEo 4:5 Hbat D gragdrgre RN £ ®an g -311334
(1) 4:5 (2) 9:5 (3) 3:5 () 2=

o S e y sw cube t
Ihree cubes of sides 6 cm. 8 cm and 1 cm are melted to form a new cube then the

length of the edge of the new cube'is
(1) 9 em (2) 8 cm (3) 7 cm
6 20.., 8 20.0. Wby 1 0.0, e gherenr o HHWOD 00 a8 DY BWB0 daky 4

(4) 6 cm

Bawm & o BwE) heo Fod Jos?

(1) 9 0.3 (2) 8 20.. (3) 7 2o.. (4) 6 20.2. ” |
If A+B=90° and cot Iizg then the value of tanA=__ : 1
A+B=90° ©bax cot 323 ©ouD, tap 4 Dewd 6 .
m 3 @) 3 3) % @ 1 |




46

In the figure. AP=12cm, PB=16cm. Let n=3

AoRtion is then the perimeter of the shaded

DO vod AP =12 0.»., PB=16 0.9
$eEOS Jog? o

_"23 ©ond, W8 Favwds (Foso BoEy,

LD
)
¢l

(1) 52 em (20.)  (2) 58 cm (o) (3) 56 cm (o) (4) 62 cm (o)
L f‘l

P

If the diameter of a sphere is 'd' then its volume is

e | A\ @
¥ /¢o Ay Togho 'd' wand, o HEHdErEo Z e
1_ .3 A 1 St |
1) =nd Y = nd3 23 13
(1) 5 @ 3m (‘3? 2™ 4) 3md
®)
- (@)
A reservoir is in the shape of a frustum of a-tight circular cone. It is 8 m across at the
top and 4 m cross at the bottom. It is 6 mtdeep then its capacity is /(& al
(1) 704 m3 (2) 174 m3 (3¥' 127 m3 (4) 170 m3 S S
0 A
2.8 8230 o b BSSE Gy o (HHD) us‘éoés o, o3 T Wbt (808 TgATrew 8 3.,
4 . DB % 6 . @ond, T W HOLTBO JoS? e X
(1) 704 3 9,)/174 3 3) 127 &3 4) 170 &3 A
(&)

A dice is thrown twice. Then the probabilifyof that '5' will come up at least once.
(9 7
2.8 DDEH Bodh P EYR, EWK0 28>0 & magg}e 5' By Hoersgd

23 12 =41
1 2 3y = (/ﬂ/— i

=N
T VOET2021—B 1y

SPACE FOR ROUGH WORK / D& $98 Seravossuds gein

) L §
\ D

\o X < ] A
I r AT, ‘;—]
T BN /27 :))5/ l ) e
“ O\ D\ e e : '
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47 If the mean of 6,7, x.8,y.14 is 9 then x+y=_—
A 6,7.x,8, .14 © ¥en 9 wand, x+y= 4) 20 o
(1) 17 ) 18 @\ J A
48 From the figure, 9= Sy ‘) tl (
T’..)é.)o:no&, e: ‘I/)-,/(’
T I/ ) N 2
C H
:.)u‘ (
Y
( (J 3
100/3m
0
A |— B 4
100 m (4) 75°
(1) 450 @) 60° @) 30°
4 m are connected by 5
49 The tops of two poles are of height 20 2:::“ |then the length of the Wirewi:‘
¥ If the wire makes an angle 30° with the 11(03’;7‘ (ahiA (4) 10 m
(1) 11 m (2) 12m &> 8 BEroBY
20 . oo 14 . P aHen e Bod 0O ?w.l""d"s‘ bty 6"*30
oo B, © sodh By FEH . 4) 10 &,
(1) 11 2. (2) 12 . (3) 13 . /é
ility of getting at least s,
50 If three coins are tossed simultancously, then the probability g S as“\;,
heads is
5 Qardh TeEeR ST IHE Tl 8o Bod erden 3y Roerdgd
3
1 =
7} 2 = 4)
A 3 @5 @) 3 2
SPACE FOR ROUGH WORK / D& 08 Séranoseds oo E
9 . c
| . \(“(\ 7
0o ‘ \ O
N v i
{ \
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2

he AM. of 30 students is 42. Among them, two students got zero marks. Then A.M./

of the remaining students is

30 Wod derghe ey 42, 5°06° a8 (' Erdyen s HADH dergho Sy

(1) 40 (/("2‘)\,45 (3) 50
(S5

The median of 17.31.12.27.15,19.23 is

17.31,12,27.15.19.23 o BE). wdgrido

(1) 19 L oya0 Gl
\1 V5 517 5\4 ;-7 B D e

Mode of 4,B.C.D..........., Z is

(1) 20 (2) 21 (3) 22

A, BSCHD i Z © @&y ersovdo

(1) 20 (2) 21 3) 22

The value of sin® or cos® never exceeds

(1) -1 )1 3) 0
sinB B cosO © By Jewd BILOB Iy D s°6.
(1) -1 2) 1 (3) 0
In the figure. the value of cosec 4 is . \/\
750 Y\
s \_(,/" '(" 7
N 1B
\(\7

H06°, cosec A SBogy Jend

i 13 3
(1) 55 @ 5 }}‘)/:-2'

(4) 55

4/; ks
(4) 22 g

(4) No mode 5

1 /.
\_2 7Y

(4) erioebo 6OBS

(4) None of these

-
o

POLYCET-2021—B |
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57

58

59

60

If a two digit number is choosen at random tl

is a multiple of 3.

1 1
() 3 @) 3
P(x)+P("not x") =
P(x)+P("x s=8") =
Q)= 2) 2

S t i
16 ot == then cose+51.nG:
a cosB—sinO

b q .
coto=2 eond cos0+sinB

a ' cosO-sin®
b—a b+a
(1) b+a (2) b—a

The angle of elevation of the top of a tower, whose height 18 100 m,

sen the probd

&b
Bodose Howgd”® s @A) B0%H0B, 0d 3 B8 (edessd

1
3) 3

a—b

) ok

a+b

distance from the base of the tower is 100 m is

pility that number chy,

g 0w Hg®

|

4) 3

a+b
a—b

(2)
(3)
(4)
(1)
(2)

at a point why, (3)

(4)
100 Srexs 2D o 28 Boso o wod 100 Hexg &rdos” §e B B o VBB Ao gy !
BR0E oo .
L3 0 4) 450 1
(1) 30° (2) 60° (3) 90 &.) 2
3
o (@
N o N
The value of %= ' R
frtan2 45—
(1
1—tan? 45° el 2
Itz 45 e R G
(1) 0 (2) -1 3) 1 4) 2 (4

SPACE FOR ROUGH WORK / D& D8 Seranoseds vemn
@
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SECTION — B : PHYSICS (385 B> 0900)

To_find normal to a curved surface at a point, join that point and

1) Focus (F) (2) Pole (P)

{(3) Centre of curvature (C) (4) Any point on principal axis
HESr8 8 Doty He owin, @ HotH 1806 AN DoHE Sedmr 6 HE0B.
(1) =& (F) (2) &8 Sosam (P)

(3) Hge Boitw (C) (4) Porargin D B Dot

When a set of parallel rays of light inclincd at 159 to the principal axis, are incident
on a convex lens, they

(H/(‘on\'crgc at focus (F)

(2) Diverge from focus (IF)

(3) Converge to a point on focal plane
(4) Diverge from a point on focal plane %
Rerargod 15° Smo iy (Howredos 5708 Hoesin H08sE EbEin D HSTHYPH, ©D "1()/%(7
(1) =D &S SobgysvHsran P &
(2) D08 J8o|d¥boseiseron

7,
e

(3) =han SeoD el Hothyy 5 Bolds)shHsaw L
= (4) odan $00D &8 Dot wod JSo|d8dosedEron /fV
B Focal plane of a spherical mirror is : i (

(1) Line joining pole (P) and focus (F) of the mirror Y S 7

(2) Plane perpendicular to the principal axis at focus (F) ﬂ}w\) ¢ @7

(3) Plane perpendicular at centre of curvature (C) & % O\‘ 0

_ : SN/

(4) Plane parallel to the principal axis. (;( 9 &)

ﬁ‘v-svdddam:m c’iinéz‘.a-bob $e0 wod 5} \ 2 \L\ O

(1) &8y Sydo (P). 8 (F) o seny 8 \ S //

(2) =8 (F) ¢ ©Horargrd8 eoworr ¢d) dedn ) /

(3) e oo (C) o6 woworr d®) dedn ch
 (4) pormgd8 dtrosdorr dod Somw N T\ /0/7, ‘)
3/
F
| SPACE FOR ROUGH WORK / 2& #98 Séronoseds Heodno
' \b

0
N
2 //\ )
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64 Denti e
C 3 AQ : . - 3
nust uses this mirror to examine teeth of paucntb-

(I) Concave mirror (2) ConveX mirror 5
(3) Plane mirror (4) None of the above (l)m?g
tr
Soes
08 Beogchy B°A Somrersy HBBoBothH & AHEBrAOE €561 (2) In
(1) Herses ¢56 yevitun (2) & 003°5°0 R ) T
(3) e &8 ye0in0 (4) 2, ADaO® 5°) 4) In
s u:sgé:
65 If object and im: ] . . or. the mirror is (1) ¢
%8 ~ image lie on the same side of a mirron (2) |
(M) Concave (2) Convex 3)
(3) Plane (4) None of the above e ‘
SRR, BBDowdn $5708 o Byd @oB, © GBS
(1) Hersey (2) oSS An
LA If o
(3) Shde (4) I ST fine
(1)
e oy imes I length ;
66  When distance between object and screen is more than 4 times the focal length, inj 28
bl

many positions of the convex lens, image is sharp ?

[
/ BP), B Wese Srso Hoarsed E&rE arereosords (1) 4 3?,3506 QD d’é«l%?o”é' ey g (1)
/ S 2T° erg
W) Pt [BDowIN FK0m okw0d?
(1) 1 @) 2 (3) 3 (4) 4 ) W
14 / (1
&

67 If a light ray passing through centre of curvature (C) of a mirror is incident o ;

mirror, the reflected ray's path is

(1) Through focus (F) (2) Through centre of curvature (C)

g}’)/ Retraces the path (4) Through any point S
28 5208 8680, 8 AnEy, e Soo (C) wod HoXreadyr €58 )e0En0 R DR P, iy
880 By wrdo ‘
(1) = (F) coae (2) HgeSo(so (C) rhoae :
(3) ©B8 &rdo oo BLED [Hosredyod (4) B HohD o

SPACE FOR ROUGH WORK / 94 98 $eranoseds gowmn

(p1("
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71

(3) Image is of the same size as that of object

If magnification is equal to one. it means
(1) Image is smaller than object

(2) Image is larger than object

(4) Image is point size

5850 288 ( 1) ®on8, ado

(1) ©dDowiy, S &o) D96

(2) PdOodw, HY S7°) EO

(3) ©HODoL, HP) Bodr &8 HOHrHOS” dar)an

\J
AW

(4) P®Bowtn Dotk Erdsnd® 89 | 2 |

-

' D

oncave mirror.
irror is 20 cm.

An object is placed at a certain distance on the principal axis of a ¢
If the image distance (v) is 30 ¢m and radius of curvature (R) of the m
find the object distance (u).

(1) 10 em (2) 15 cm (3) 30 cm (4) 7.5 cm

08 ErES BEYR BT EinD Fos Krdos® el S doswass. (©8Dow Ersin (V) 30 0.2
Bty S8 By Her Tgrdin 20 Ro.d. vand Ehde, By Ero (u) dod?

(1) 10 20.D. (2) 15 0.5, (3) 30 20.8. (4) 7.5 2o..
Which part of our eye is responsible for image formation ?

(1) Cornea (2) Crystalline lens (3) Aqueous humor (4) Iris

DB S0836% Be errfo HoB (H8Bowo JE)HhE0H?

(1) s*8yo0r (2) seso (3) J&us (B0 (4) 268

Object distance (u), image distance (v), focal length (f) are all measured from

(1) focus (F) (2) optic centre (P)

(3) centre of curvature (C) (4) principal axis

& drdo (u) (H8Dow rdo (V) rergosso () e & DotHH) Hod EenaP .
(1) =8 (F) (2) 88 Soio (P)

(3) Hge Soso (C) (4) Pororgsn

'OLYCE‘

SPACE FOR ROUGH WORK / 9& %38 Séravosads Heiv
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72 In our eye cones identify d Colour
(1) Intensity of light : n,v-ll
(3) Taste @ 2 AC(_),I
L% Sot3S™D Fomen B HBFow ? 8 (Ht
o
(1)Cerod b 2 8 w8 &
(3&&,3 “4) = (1) :
{{o .noth.
. focal 1en€
73 Whh the help of . eye-lens changes |tscomca Forr
(1Y ~"Aqueous humor 2) pupil of
C‘/Clhal‘y muscle ) 2 3
&7 5204
B 5Fanod Koes Kerko $ TEgoSTR), é"é’z)'*’""wo o o
s .
(1) s sso O s
\.:c %) o)
(B3I 2Oand Sodoren (B8 (1)
(\ ’ :
' : th constap
. o of water W1 t
74 A blrd is flying down vertically towards 'the Zg;liﬁe bir ) (3)
Ay ﬁsh in the water vertically below the bird S
(1) Further away than actual distance
(2) Closer than actual distance 4
(3) At actual distance Th
(4) In inclined position
S0° . $88 @O Mg 4¢
95!‘?606‘ ad) B8 5e8 000 BF ©OVON” G 25 HB8 (Bo&& - ! .
608, u BHH H§ /(/ 2
\C
(1):':9"&03 0 08 drsorr Sderhood =
(2)wien 0 S0B BHiSm SO0
(3) wen Frvod® Stexbdod i
:
(4) end® Sdk&0d ‘
0
75 Foé'aj length of plano-convex lens of refractive index 72 and radius of curvatyy Tt
n Sfesss wssn, R sge a»saod:m e 0 SogrES S8 N “’*""’8“"&” ¢!
N©® =] C
( E:f ) 2 a
T
SPACE FOR ROUGH WORK / de 208 Semovotodd go =
8
&
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A convex lens form image of an object at infinity. Object i at SN\

~ f le (P
(b focus (F) 2) C=2f (3) infinity (@) pole (2

O ¥ &08000-
L Soure Sk [©BDounD) G0 (rdos 86000, IV & gaod

Ay g Soso (P)
(1) =& (F) @) Cc=2f 13) weos ardo (4) 4

. : ; ro
- Gl S ndex 12 fi
7 Formula used when a light ray enters a medium of refractive 1

e 5 . ST Y ture R is
of refractive index m at curved surface with radius of curva

Jodorr (3O
s*08 8800 1) ;5(_@2,5:):6 Ko Ko aXrds0 LDod 1 éLge;Séiﬁ €80, R T3
(Borreloddyd, & (808 o8 Edeiino OB, L

ma medium

00, ‘
(1) np m_n2— n ((2) = ny — N
v G R —p =

vf:r &
3) BRI oy 2 mn v o
n m R ) u R‘/—‘ \’v’ﬁ),
X Vs 4
: e is 20£2
78 4Q.8Q. R resistors are connected in Series. Resultant resnstance\a ,
Then R=? O :?;{\ \/
4Q.8Q. R Bow BesS® Send wgrow. D8 Qs 202 wond, R=7 N
3 4) 8 “ -
(1 6Q (2) 4Q (3) 18Q “4) q,"%
z :Q“ ; . /‘A,,.,
. = S
79 When how much current flows in the fuse, it melts ? q/o 7 7/@
drger tboa Jod esog8 i 0B S6bHE00? B V85
(1)200 A () 2A (3) 20 A (4) 2000 A
: O

(09
80 The alloy made of Cu, Mn, Ni is ‘C\l )
(1) Magnesium (2) Magnet -l%( Manganin (4) Magma
Cu, Mn, Ni o8 8a-gs D &0 -

(1) Dhysoso (2) armys (3) BrorkdS (4) sromy

SPACE FOR ROUGH WORK [ D D8 Beranosadd DO
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81  Conductivity -

(1) Resistance™! (2) Current! (3) Potential™! (4) Rt"ii'sliw(y|
:r:rédso =
(1) e~ (2) dbrgsyyrsrtn=! (3) >ogans! (4) Rt g,

82  Least distance of distinct vision is

(1) 25 m ) 25 st ) 25 em (4) 25 km

SR W drsty

(1) 25 . (2) 25 2.5, (3) 25 20.5. (4) 25 8.5,
83 The resistance of human body varies between

(1) 100 Q to 50,000 (2) 100 Q to 5.000 £2

() 1,000 Q to 500,000 Q (4) 100 Q to 5.00,000 £

ORI s 485 D6 D Devse e A0EV0O?

(1) 100 Q ®08 50,000 0 s (2) 100 Q %08 5.000 Q 6%

(3). 1,000 Q %08 5,00,000 @ 6% (4) 100 Q #od 5, qo. 000 Q 6%

~N

84 Focal length of a lens is 25 cm. Its power is 3 ,

2.8 E&HK TPgoSSHD 25 0.8, woand, oo FiGgin

85  When a person is suffering from both Myopia and Hypermetropia, which should p,

used ?
(1) Bi-convex lens (2) Bi-concave lens
63) Bi-focal lens (4) Bi-focal mirror
ErRgEIRE P, Cir6cs )28 2resid 5588 GHBPACTIOHD
(1) BgHoerses segan . (2) agpers=¢ sesan
(3) Bgaraigoss segan (4) BgTg0ss SEymwdw
’ SPACE FOR ROUGH WORK / D& HI8 Beranousds RSB =
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90

The current in a conductor is directly proportional to the potential difference between
its ends. This is called

(1) Faraday's law (2) Kirchoff's law (3) Obm's law (4) Newton's law
&8 TSR AhgSyyaririn o°d Sdo wEghe FBIOSE BB v &tirsy 3806 ¢0e0d

B 2 JaNHHHY @oeTE?

(1) 68 doviosn  (2) 8675 davman  (3) 65 aknin (4) &rgerS ovswimn

O ik tery the electric fielq ;
When a copper wire is connected 10 a battery field in the wire is
i : 2) more at negative ]
(1) more at positive terminal (2) % : gative terminal
R ; : 4) uniform in the wj
(3) not uniform in the wire A4 Wire

&8 0°A S5 argiBB OB, Bt Desog® Bl
(1) & Gybo e Aoy d (2) 28 G0 D Iy, %
(3) 856 DEbBM Bocbes (4) B85S BB soenon,

Units for specific resistance
VY VP8 (eeTren
(1) Qm 2) Q/m

3) m/Q 4) Qkg
Forcé:;;:gth = which quantity ?
(1) Potential (2) Current (3) Resistance (4) Capacity
wot X PEY)
R = o F°8E o°R?
(1) >8NS (2) dogdygarsrdn  (3) WPedw (4) S8

A current through a conductor is 24, when there is a potential difference of 10

between its ends. Its resistance is

8 g0 Ddde Desg 10V FrBIand Desdnd)dpds, 24 g8 (58rod. ord At Eos?

(1) sQ 2) 02Q 3) 20Q @ 25Q

SPACE FOR ROUGH WORK / 9 198 Eeranosnds bt
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92

93

o

! 94 /

95

,()/)’/no change in energy

SECTION — C : CHEMISTRY (63°00® F39R0)

ate Lo excited state

hen electron jumps from ground st
emitted

(2) energy is
(4) depends 0N atom

In an atom, W

(3) energy IS absorbed
LS JOFHS 2rdan wod SBSS Jrond APOHS’

(1) #86° ard) S0 (2) 48 agd@rﬁ@
(3) %89 (RrowHd

The orbital which is filled with electrons immediately after '3p' is -

3p' 6OYErS oD SGTE JFTINE Dot wdyerdS 267

(1) 4s (2) 3d (3) 4f (4) 4p
\/ {
When n =4, the total number of subshells in an orbit 18
n=4 m addpd & 86 )608" 0B Ado GBEETre Jowg
(1) 1 2% 3) 2 4) 3
ectrum 2

Which of the following has larger wavelength in electromagnetic SP
) UV rays

(1) Gamma rays
(4) Radiowaves

(3) X-rays

DSogeS a3 08 520208° ©OY SSorBYso EONKD AD?

(1) mér 88een (2) @8dos®ird 88wren

(3) X-8erew (4) B&®@Br ddorren

The quantum number which ‘explains about the spacial orientation of orbitals is

wB)Ere) (FBRE BAZTGII), D500 sPgOoL0 Howg
(1) n (2) ¢ (3) m, mms

POLYCET-2021—B ] 20
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/96 The correct set of

‘ ; : four
\\ atom is - qu
A

ai . ! -
antum number values for the valence electron of sodium

Ao HSHreny

® Dy, 505.3 DO dod 4 572080 KOO enden '~’_ ’ a0}
(1) n=3, £=]1, m=1 <=

e 2 (2) n=3, £=0, m=0, s = +:]; s 2 (o

(3) n=3, £=0, m=] 1 .

,M=1, §= 4 VAP

) Sf}) n=3, £=1, m=0, s = >
i ZIh)C }i‘llnpuriliCS present in the ore is called as
ux

e DN ~A2) Gangue (3) Slag (4) Mineral
FEHE EDDayy &) DHOTOHD DD wobrEr?
1) &89
R (2) mof - (3) Srdveo (4) =0

8 \Which of the following :

9 nch of the following is used as a flux in the smelting of Haematite ?
DB IOD0 B0 (50T BHAPACKDH DE?
(1) 8i0, (2) CaSiO; (3) CaCO;4 (4) FeSiO;

99 * Potassium and Calcium belongs to
(1) s-block elements /('Zsﬂr/p'bIOCk e
(3) d-block elements (4) f-block clemeiiis

Ferhono Hoakw s*dano dresten ) i Botw?
(1) s-2r8 Srosten (2) p-r§ Droscew

(3) d-2§ rescen (4) f-r§ roscew

| | 100 'Which of the following is an ore of Iron ?

(1) Bauxite (2) Haematite (3) Carnallite (4) Pyrolusite
&3 (800 TE3S° FWD qr’efw@ a6?

(1) 278)& (2) 8BS (3) =688 (4) Benges

SPACE FOR ROUGH WORK / & 308 Stronouseds Hedn
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102

103

104

105

106

B

In electrolytic refin: ; ' S
J re o " S en as
clining of metals, the pure metal 1S tak (4) Vessel

(1) Anode (}rCalhodc (3) Electrolyte
0GB Tt o ges SHE HBanS® e Simo B HipSotrd? 4) >
0 S ) =&'6 (3) g8 it
Th.i reactio_n that takes place in Thermite process is
(49" Reduction ) Oxidation
(3) Neutralisatjon (4) None of the above
G825 S8e® aspg Se5g

5
(3) S&88mo (4) A 5D

What does the g : tion ?
: Symbol 'A' represent in a chemical equa :
A' represent in a chemical €q (4) Physical state

(1) Catalyst (2) Precipitate (3) Heating
SP0ND BVEIWOS® 1A' & 6 BOD trDKr0B? .
The product formed when quick lime reacts with water is
P D)0 WA S Gy St Vechy (BarresHeo
ol s 4) CaCl,

(1) CaSO, (2) Ca(OH), (3) CaCO;

Which one of the following is not a product in the electrolysis of aqueous NaCl] 9
NaCl zoess 2658 Dhxe (HBane® (8ob se36° 6 (Baxresdgo S°E?

(1) NaOH 2o @) Cl, _A#) H,
Which of the following has highest mass/

(1) One molecule H,O (2) One gram H,O

(3) One ml H,O (4) One mole H,O

(800 Te3S° edchS (550730 §OAGCBE?

(1) a8 @=op H,O (2) o8 s HyO

(3) a8 2dHe:E H,O (4) a83ars H,O

SPACE FOR ROUGH WORK / 9& $98 $&ranoseds e
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108

109

110

111

112

When the CQuation;, Na £H

Na' 9 7() -, =
Na' ? 2Y=>»NaOH +H> is balanced, what is the coefficient fe
Na+H>0 — NaOj
E I+H, g ;
(1) 2 2 wﬁbgdma; Sego BPE Na' A HmEo0 Jog?

e Nt 4) 1

: : (2) Exothermic reaction
(3 Endothermic reaction

(4) Reduction reaction
BED D ©otrd?

(2) agﬁrés Lol

(4) Sanstem 563

BaS BEees* B0’ (50 $288, o
(1) w8yssem SSg

(3) sy Sesg

Which of the following is not an inert gas element ?
83 (808 >86° axtarany furessn so06 6?

(1) He _(2) Na (3) Ne (4) Ar

HO‘_V many s-block and p-block elements are there in the second period of the modern
periodic table ?

BEOIE BHED HIES™D Bocks HBANES® ) 5-27°6 DO P-2-§ Mresten SoD?
1) 2,8 () 8,2 (3) 2,6 @) 4,8
o

Which of the following atomic numbers of elements have similar chemical properties ?
& |80 T3S @ DS Jdopgen (e Mrosten 28 Sra0d o en SON &OoBOD?
1) 7,8, 9 29, 17, 35 (3) 3, 10, 11 (#) 10, 11, 12

In the modern periodic table group 2 (IIA) elements are called as

(1) Alkali metals (2) Alkaline earth metals
(3) Halogens (4) Noble gases

BPEH GHEH HIES® (S 2 (IIA) srosred dH @otrd?

(1) 506 &%Fen (2) 888 Sifen

(3) S D (4) es¢6 oDV
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114

115

116

117

118

119

120

QIroErRBS® $HErACT Srand S &S@'m
(1) s (2) o (3) 8659 (4) 259

PH value of aqueous NaCl solution is

NaCl zeordeosn &gy pH dens

(1) 1.7 @2 W (3) 10 4) 7
o

The chemical formula of blue coloureé §opper Sulphate crystal is

M Sorh 55 BB )¢50 sy SRS Fhyer

(1) CuSO, H,0  (2) CuSO,-2H,0> (37 CuSO4-SH,0  (4) CuSO,-10H,0

POLYCET-zozl_B] oL %

7‘1’0“\:5’1‘1.\)4.: —

i
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The valency of Calcium is ) 4 Pla

dao BwE) Hodresses ' |
o 2) 2 @) 3 .. element belong <,
g 10 whish 958 S0 R

?
Atomic number of an element is 17 then the per‘«;oa,aob5g> B0’ . ) )
o8 :».Jvoéé» Bgy, Ssdre Howg 17 @on«f)<9} wreo 4) ) '“ = -
W @) 2 0 3 3 ‘ b
F < N o
Which one of the following is strong écid ? ~ (
&1 (800 38" wed WRHL DO? 4) 4 :
(1) CH;COOH 2y HC (3) H0
Which one of the following is an acidicyoxide ?
(Bod TIS° wiy B8 067 O 4) CO;
(1) MgO (2) Na,0 N 3) ca0
<1 : 3

Metallic oxides are generally in-nature. _ ( 4,)/I;asiC 2
(1) acidic (2) neutral (3) amphoteric
S «8)8 e Fgrdmorr Ogarard) $OA Godran. 1 %
(1) e (2) e (3) aggeraaws (D) &
The nature of chemical used in antaC|d 1s 4) All the above
(€58 ‘Basic (2) Acidic ¢ (3) Neutral 12



